DO2fst&EE KV L (BAIEEOAX X134 T10m/s?)

1.
20mDE I DI SIKEFMIZI0m/s
DFEX TRIVEKFIZHIT 72, [ARREIC
BT, £/ AMEIETTEN

10m/s

20m x
X

a|vyg|ov|t| x

AKEHME | 0| 10 i x
ShEAE | 10| 0 |20

AR KPAE x=100  BHEAE 20=3x10x7
KA LoT t=2s x=20m
BhEHM 0
2.
{45 ORYE L & AIEE20m /s TR P PO R P
Rl & 821F e, BIH ECRmSEI AR 20m/s N
ET B, KEHME | 0| 20 t ~5a
2
%x x SREAM [ 10| 0 t ﬁx
a vy v t X 2
KFF T 45° V2 o_ \ v2 1 2
E A 0 %x IKE A | Tx—ZOt---@ SRE A M Tx_EXIOXt @
@0 12%1/‘ t=4s
(OE)] x=80/2 m
3
AEF R &Y 30° EFITHIHEAOm /s 547
TR=IWEHRIT-, REEDEIL P ve o] x
BREAIOET 2R, KREERRE KEHE | 0 | 2043 T x
K%TH%%%W)L SAE A | —10| 20 [0 |¢]y
R -
a | vy | v t|x]o KEHME x=20/3¢
— — 2
KEF SREAM  0=20—10¢ y=20¢—5¢
SNE A Zhd&Y t=2s y=20m x=40/3m
P& T M U SRR A B ZREBE L 12 265
koT. 44803 mEIET TS
4.
H BITEDIT - 7= R—ILI3681%12120m BESATCEHE
FDAZ Y RIZ AT, BRERADE X, a v v | t] x
FIEEDKERS. SAERD & ENZTN KEHE| 0 | o 3160
Ked &, SREAM | —10| v, | 0| 3| »
a ] v | v | x o o KEFHE 60=3v,, SREHM 0=0v,,—10x3 y=3v,,—5x3?
KFEEE o INEY 0,=20m/s v, =30m/s y=45m
EhEAM
5. fiEe
KEFE &V 60°HEIZ40m/sTHR—IE#H%IF- 2 v lolt] x
Lz 5601’1’15'60)%!:@% L/f:o 7J<S|Z7.5m 0 20 t160
BEMAOFEY., HEREEZ
N v BhEAM | —10 | 20./3 t y
Fhezhko &,
v - KEHHE  60=20¢
SAESE y=20/3 t —5t?
a vy v t X 0
KEF Zh&y t=3 »=60/3 —45m=59m
BhEAM
6. fEE
30°DRIE & EEhY > TIT > AR —IUHS, a ve vl t] x
E@i5l:l5m®%‘§@?ﬂﬁf)‘620m/5 7J<:|Zj5m 0 loﬁ ¢ x
AN .
RO L, 0o sEAE|10] 10 | |15

MR IZE"T 50,
15m

IKSE T
ShE A

KFEHE x=104/31¢

SREAIE  15=10¢+5¢2 Zh&vy t=1stt  x=10/3m




DO2fst&EE KV L (BAIEEOAX X134 T10m/s?)

7.

BX45mDEINDEENS20m/sTKEFMIY
30° L BIZR— N EHRIF 2, BT 0BT, | 30°

ZhiE. BEDSAmoEH

45m
a vy v t X
IKEFHE 0
RE A
8.
30°ORED TR L Y. RIE &L Y 30°DFHMAIC
40m/sTR—NVE&IT/~, BTHAIT
AE _ETRmSeH
a vy v t X
KFF S5
RE A 0
9.
40mEDNIOMDE X DAIEBEPIZH 5 KR—IVB,
& DM THEESBm/sTR—IVA% P
BTz, R—IVARKRIT S LRIEIC
R—VBEETIEAELIS, R—ILAB -~ 30m
IXZEREE L, 25m/s
EZIARMRITH A S MmO E X |
DEIATRI D, 0 40m H
a vy v t X
iy |
REAA
10.
120m %D E X 60mDHLEH S KFEIZ
20m/sDEX TR—IVA%EIT 5 & AR 20m/s A
FEREMSR—IVBE#IT2 L2REIC
ZEREE Lz, BREELALMEE [T ! 0m
AmAEDFAmDE X DRIED,
Frm. EEOKE X TN 5 B g
0] x 120—x
a vy v t x
Al JKFF A
BRE S
a vy v t X
B| K FH
PRE A

B

a I’ vt X
AEFE | 0 | 10/3 i«
ShE A | —10 10 t| —45
KEHME x=10/3¢
ShEAE  —45=107—5¢2
2—2t—9=0 ¢t=(1++/10)s
x=10/3(1++/10)m
&

a V) v |t X
KEFHE| 0 | 20 ’ %gx
shEAE | —10 [ 203 | | ¢ %x
IKEFE] @xzzot...@
SEH éxzzoﬁt_w...@
@EOIZRALT 60¢—543¢=20f  40t=5./3 ¢*
i V3 g 8320
DIZRALT 3 ;c—20><\/§ ¥=—3-m
T

a |vo|lov|t]| «x

AKELM | 0 |20 ¢ 40
ShEAE | —10| 15 iy

AIHEILAOPHE OESILTRD 515, OP=50m

OP:OH:PH=5:4:3

KEFHME  40=20¢

ShEAM  y=15f—5¢° Zhdy
y=15%x2—-5x22=10m

t=2s

Al KEHA | 0| 20 2
ShEAE | 10| 0 2 y

a volov|t|x
Bl KELm| 0 | o, 2| x
sEAE | —10 |0, [2]y

AJKEF A
ASRE M

120 —x=40
y=5x%2%2=40m
B/K¥EAME 80=2v, v,=40m/s

BERE A M 40:20y—5x22 v,=30m/s

v=/v.2+v,2 =50m/s

x=80m




